ECapstanAG INSTALLATION INSTRUCTIONS - 118155-008 Rev. A

INSTALLATION INSTRUCTIONS - 118155-008 Rev. A
Hub Mount Kit for Large Frame Mast
Models:RG900/RG100/RG1300

BEFORE INSTALLATION

IMPORTANT: For safety information, refer to the system
and machine manuals.

PARTS LIST

Part Number Description Qty
118640-117 Hub Mount

713501-404 3/8-16 x 1-1/2 Flange Bolt
713600-003 3/8 Flat Washer
713501-905 3/8-16 Hex Lock Nut
713501-405 3/8-16 x 4 Flange Bolt

Al oo o | =

INSTALL

FIGURE 1: Identify the mounting location (1) - at the
bottom of the main boom frame just left of center.

FIGURE 2: Install the mounting plate (1) with the
supplied hardware.




INSTALLATION INSTRUCTIONS - 118155-008 Rev. A i@Capstan,ﬁ\G

FIGURE 3: Install the hub has shown.
PinPoint® Gateway Hub

FIGURE 4: SharpShooter® with Rate Sync® Power Hub




	INSTALLATION INSTRUCTIONS - 118155-008 Rev. A
	Hub Mount Kit for Large Frame Mast Models:RG900/RG100/RG1300
	Before Installation
	Parts List
	Install


